
Model Test Paper-Final Term  

 VI Class (Pratibha) 

SOCIAL SCIENCE 

TIME: 2 1⁄2 Hrs.                                                                              MM: 50  

General Instructions:  

1. The question paper has 20 questions.  

2. All questions are compulsory.  

3. Write the same question number as given in the question paper while answering the 

question. 

4. Attach/paste the map carefully inside the answer sheet. 

5. Questions from serial number 1 to 6 are multiple choice questions (MCQ) of 1 Mark 

each.  

6. Questions from serial number 7 to 11are for 2 marks.  

7. Questions from serial number 12 to 17are for 3 marks. 

8. Questions from serial number 18 & 19 are for 5 marks. 

9. Question 20(a) and 20 (b) are for 3-3 marks respectively.  

10. Students are expected to read questions carefully before writing the answers.  

lkekU; funsZ'k % 

1- iz'u i= esa 20 iz'u gSaaA  

2- lHkh iz'u vfuok;Z gSaA 

3- iz'uksa ds mÙkj nsrs le; iz'u i= esa nh xbZ iz'u la[;k fy[ksaA 

4- mÙkj i= ds vanj /;ku ls uD'ks dks layXu@isLV djsaA  

5- iz'u 1  ls 6 rd cgqfodYih;  ,d vad okys iz'u gSaA  

6- iz'u 7  ls 11 rd nks vad okys iz'u gSaA  

7- iz'u 12 ls 17 rd rhu vad okys iz'u gSaA  

8- iz'u 18 ls 19 rd ik¡p vad okys iz'u gSaA  

9- iz'u 20 , vkSj 20 ch Øe'k% 3-3 vadks ds ekufp= laca/kh iz'u gSaA 

10- fo|kfFkZ;ksa ls visf{kr gS fd os iz'uksa ds mÙkj fy[kus ls iwoZ iz'uksa dks lkok/kkuh 

iwoZd i<sa+A 

In Question  number 1 to 3 choose the correct answer:  

iz'u la[;k 1 ls 3 esa lgh mÙkj Nk¡Vdj fyf[k,% 

 

1. Which of the following is not necessary for a  sketch?      (1) 
(a) Memory        (b) Observation.       (c) Directions         (d) Scale   

Ldsp ds fy, fuEufyf[kr esa ls dkSu lk vko';d ugha gSa\  

¼d½ eseksjh  ¼[k½ voyksdu  ¼x½ fn'kk   ¼?k½ Ldsy 

 



2.    Who among the following could participate in Gana‟s assemblies?    (1)  

(a) Women        (b) Slaves       (c) Kammakaras        (d) Raja   

fuEufyf[kr esa ls dkSu x.k ifj"kn~ dh lHkkvksa esa Hkkx ys ldrk Fkk \  

¼d½ efgyk    ¼[k½ nkl    ¼x½ dkedj        ¼?k½ jktk 

 

3- What is the latitudinal extension of India from South to North ?      (1) 

(a) 68.7‟ East – 97.25‟East  

(b) 8.4‟ North – 37.6‟  North  

(c)  37.6‟ North – 8.4‟ South 

(d) 66.8‟South – 97.4‟ South  

     nf{k.k ls mÙkj rd Hkkjr dk v{kka'kh; foLrkj D;k gS\   

  ¼d½ 68.7‟ iwohZ – 97.25‟iwohZ   

  ¼[k½ 8.4‟ mÙkj – 37.6‟  mÙkj    

  ¼x½ 37.6‟ nf{k.k – 8.4‟ nf{k.k         

  ¼?k½ 66.8‟nf{k.k – 97.4‟ nf{k.k 

 

In question number 4 to 6 correct & rewrite the given statements. 

iz'u la[;k 4 ls 6 fn;s x, okD;ksa dks lgh djsa vkSj iqu% fyf[k,A 

4. Hindu Succession Amendment Act was enacted in 2003.     (1) 

  fgUnw mÙkjkf/kdkj la'kks/ku vf/kfu;e 2003 esa ykxw gqvkA 

5. Sowing, weeding and harvesting are non - farming activities.    (1) 

  cqvkbZ] fujkbZ vkSj dVkbZ xSj&d`f"k xfrfof/k;k¡ gSaA 

6. Raw silk is extracted from the Palm tree.       (1) 

  dPpk js'ke ike isM+ ls fudkyk tkrk gSaA 

7. What were the means adopted by Ashoka to spread the message of Dhamma?  (2) 

  /kEe ds lans'k dks crkus ds fy, v'kksd }kjk viuk, tkus okys lk/ku D;k Fks\ 

8. Write any two changes in agriculture during Mahajanpada period.   (2) 

  egktuin dky ds nkSjku d`f"k esa vk, nks ifjorZu fyf[k,A 

 

 



Read the passage given in each Questions from 9, 10 & 11 and answer the question that 

follow. 

vuqPNsn dks i<+dj uhps fn;s x, iz'u 9]10 vkSj 11 dk mÙkj fyf[k,A 

9.  Nearly 80% of all rural families in our country are agricultural labourers. Some of them own 

small plots of land whereas others are landless. They are not able to earn money throughout 

the year. Therefore, people are forced to move to distant place in order to find work.These are 

cases of either permanent migration or seasonal migration. Thulasi is also a landless worker. 

Thulasi has two daughters who are the joy of her life. One of them fell ill last year and was 

taken to a hospital in the city. Thulasi had to take loan from Ramalingam for the medical 

expenses .She had to sell her cow in order to repay the loan.  

 Why do you think agriculture labourers like Thulasi are forced to accept low wages? 

gekjs ns'k esa lHkh xzkeh.k ifjokjksa dk yxHkx 80% fgLlk d`f"k etnwj gSaA muesa ls dqN 

ds ikl Hkwfe ds NksVs&NksVs VqdM+s gSa tcfd dqN Hkwfeghu gaSA os yksx iwjs o"kZ iSlk ugha 

dek ikrs gSaA blfy, mUgsa nwj txgksa ij dke ryk'kus ds fy, tkuk iM+rk gSA ;g ;k 

rks LFkk;h izokl gksrk gSa ;k ekSleh izoklA rqylh Hkh ,d Hkwfeghu etnwj gSA mldh 

nks csfV;k¡ gSa tks mldh vk¡[k dk rkjk gSaA muesa ls ,d fiNys lky chekj iM+ xbZ vkSj 

mls 'kgj ds vLirky esa HkrhZ djuk iM+kA bykt ds fy, rqylh dks jkefyaxe ls dtkZ 

ysuk iM+kA dtkZ pqdkus ds fy, mls viuh xk; cspuh iM+hA   

 rqylh tSls d`f"k etnwjksa dks de etnwjh dks Lohdkj djus ds fy, etcwj D;ksa fd;k 

tkrk gS\ 

 

10. My name is Bachchu Manjhi. I am a rickshaw puller. I stay with my friends in a rented 

room. They work in a nearby factory. I earn between Rs.80-100 every day, out of which I 

spend Rs.50-60 on food and rent. The rest I save for my family. I visit my village two or 

three times a year to see my family. 

 

 Bachchu Manjhi has to think twice before taking a leave from his work. Why? (2) 

esjk uke cPpw eka>h gSA eSa fjD”kk pkyd gw¡A eSa ,d fdjk, ds dejs esa vius nksLrksa ds 

lkFk jgrk gw¡A os ikl ds dkj[kkus esa dke djrs gSaA eSa izfr fnu 80&100] #i;s ds 

chp dekrk gw¡ ftlesa ls eSa 50&60 #i;s Hkkstu vkSj fdjk;s ij [kpZ djrk gw¡A 'ks"k eSa 

vius ifjokj ds fy, cpkrk gw¡A esjs ifjokj dks ns[kus ds fy, eSa vius xkao esa nks ;k 

rhu ckj lky esa nkSjk djrk gw¡A 

 cPpw eka>h vius dke ls Nqêh yssus ls igys nks ckj lksprs gSa] D;ksa\ 

 

11. Read the paragraph given below and answer the following questions : 

fuEufyf[kr vuqPNsn dks i<sa+ vkSj fn, x, iz'uksa ds mÙkj nhft, % 
Upanishads were part of the later Vedic texts. Upanishad literally means „approaching and 

sitting near‟ and the texts contain conversations between teachers and students. Often, ideas 

were presented through simple dialogues. Many of these thinkers felt that there was 

something permanent in the universe that would last even after death. They described this as 



the atman or the individual soul and the brahman or the universal soul. They believed that 

ultimately, both the atman and the brahman were one.         (3)                                           

                                

(a) What is the meaning of Upanishad? 

(b) Write any two important ideas discussed in the Upanishad. 

 

mifu"kn~ mÙkj oSfnd xzaFkksa dk fgLlk FksA mifu"kn~ dk 'kkfCnd vFkZ gS & ikl tkuk 

;k ikl cSBukA mifu"kn~ esa f'k{kdksa vkSj Nk=ksa ds chp ckrphr gksrh Fkh vkSj ljy 

laoknksa ds ek/;e ls fopkj izLrqr tkrs FksA vf/kdka'k fpardks dk ;g ekuuk Fkk fd bl 

fo'o esa dqN ,slk gS tks fd LFkk;h gS vkSj tks e`R;q ds ckn Hkh cpk jgrk gSA mUgksaus 

bldk o.kZu vkRek rFkk czã vFkok lkoZHkkSe vkRek ds :i esa fd;k gSA os ekurs Fks fd 

varr% vkRek rFkk czã ,d gh gSA 

 ¼v½ mifu"kn dk D;k vFkZ gS\ 

          ¼c½ mifu"knksa esa ppkZ gksus okys fdUgha nks fo"k;ksa ds ckjs esa fyf[k,A  

 

12. Name the most famous Kushana ruler. What was his role in the spread of Buddhism?   (3)  

 lcls izfl) dq"kk.k 'kkld dk uke fyf[k,A ckS) /keZ ds izlkj esa mudh D;k Hkwfedk 

Fkh\ 

 

13. There are several major pilgrimages in India today. Write a short note on any one of it.    (3) 

vkt Hkkjr esa dbZ izeq[k rhFkZLFky gSaA muesa ls fdlh ,d ij laf{kIr fooj.k fyf[k,A 

 

14. According to the given information, identify the type of Map%           (3) 

(a) Map showing mountains, plateaus, plains, rivers, oceans,etc. 

(b) Map showing specific distributions of roads, rainfall, forests, industries,etc. 

(c) Map showing cities, towns, villages, states and boundaries etc. 

fuEufyf[kr tkudkjh ds vuqlkj ekufp= ds izdkj dh igpku dhft, % 

¼v½ ekufp= tks igkM+ksa] iBkjksa] eSnkuh] ufn;k¡] egklkxjksa vkfn dks fn[kkrk gSA 

¼c½ ekufp= tks lM+dksa] o"kkZ] taxyksa] m|ksxksa vkfn ds fof'k"V forj.k dks n'kkZrk gSA 

¼l½ ekufp= tks 'kgjksa] dLcksa] xkaoksa] jkT;ksa vkSj lhekvksa dks n'kkZrk gSA   

 

15. Find the following from the given Map:              (3) 

(a) The latitudinal extension of India. 

(b) Total distance from north to south of India (in km). 

(c) Two neighbouring countries of India. 

fn, x, ekufp= esa fuEufyf[kr dks <¡w<dj fyf[k,A  

¼v½ Hkkjr dk v{kka'kh; foLrkjA 

¼c½ Hkkjr dk mÙkj ls nf{k.k rd dk foLrkj fdyksehVj esaA 

¼l½ Hkkjr ds nks iM+kslh ns'kksa ds ukeA 



  
 

16. Describe the role of police station in resolving disputes.       (3) 

fooknksa dks fuiVkus esa iqfyl Fkkus dh Hkwfedk dk o.kZu dhft,\ 

 

17. Complete the sentences given below:        (3) 

(a) In a municipal corporation the elected members are called __________________. 

(b) House owners have to pay ______________ tax to the municipal corporation. 

(c) Groups of Councilors deal with issues that affect the _____________________. 

fn, x, okD;ksa dks iwjk dhft, % 

¼i½  uxj fuxe ds pqus x, lnL;ksa dks-------------------------------------dgrs gSaA 

¼ii½ edku ekfydksa dks uxj fuxe dks--------------------------------------dj nsuk iM+rk gSA  

¼iii½ ik’kZnksa ds lewg mu eqíksa ls fuiVrs gSa tks---------------------------------ij vlj Mkyrs gSaA 

 

 

18.  What is Biosphere? Draw a diagram and describe various features of a Biosphere.  (5) 

thoeaMy D;k gSa\ thoeaMy dk ,d fp= cukb, vkSj bldh fofHkUu fo'ks"krkvksa dks 

fyf[k,A 

 

19. Mention any five problems that may be discussed in the meeting of Gram Sabha.  (5) 

fdUgh ik¡p leL;kvksa dks fyf[k, ftu ij xzke lHkk dh cSBd esa ppkZ gks ldrh gSA 



 Note:  Only for visually impaired students in lieu of Q.No. 20(A) & (B) 

uksV%& dsoy iz'u la[;k 20, vkSj 20ch ds cnys n`f"Vckf/kr Nk=ksa ds fy,A  

20.  (i) Write the name of any two neighbouring countries situated in south of India.        (6) 

(ii) Name the biggest delta of the world. 

(iii) Name the coral island of India. 

(iv) Name the country where Ashoka‟s inscriptions have been found. 

(v)  Bull animal sculpture was found in the Rampurwa. Which state is Rampurwa situated 

in? 

(vi) Write the name of the script in which  Ashokan inscriptions are written. 

¼i½  Hkkjr ds nf{k.k esa fLFkr dksbZ nks iM+kslh ns'kksa ds uke fyf[k,A 

¼ii½ nqfu;k ds lcls cMs+ MsYVk dk uke fyf[k,A 

¼iii½ Hkkjr ds izoky }hi dk uke fyf[k,A 

¼iv½ ml ns'k dk uke nsa tgk¡ v'kksd ds f'kykys[k ik, x, gSaA 

¼v½  cqy i'kq eqfrZdyk jkeiqj esa ik;k x;kA jkeiqj fdl jkT; esa fLFkr gS \  

¼vi½  v'kksd ds f'kykys[k fdl fyfi esa fy[ks x;s \  

20.(A) On outline map of India, Mark the following :     (3) 

  (i)  Andaman Island 

 (ii) Western Ghats 

 (iii) Godavari river 

 

Hkkjr ds ckg~;js[kk ekufp= ij fuEufyf[kr dks fpfUg~r djsa%& 

¼i½  vaMeku }hi 

¼ii½ if'peh ?kkV 

¼iii½ xksnkojh unh 

 

20.(B)  On the same outline map of India, mark the following locations where Asokan 

inscriptions were found.               (3)                                                                                                                   

i)  Maski 

ii) Girnaar,  

iii) Bahapur 

Hkkjr ds ckâkjs[kk ekufp= ij fuEufyf[kr LFkkukas dks fn[kk,a tgk¡ v'kksd ds       

f'kykys[k@vfHkys[k ik, x, 

i)   eLdh   

 ii) fxjukj   

iii) cgkiqj   

 

 

 



iz”u la[;k 20 (A) rFkk 20 (B) ds fy, ekufp= 

Map for Question No. 20 (A) and 20 (B) 

       

 

 

 

 

 

 

 

 

 

 

 

 



Model Test Paper 2017-18 (Final Term)  

CLASS VI – NISHTHA 

Social Science 

 

Time: 2 ½ Hours                                                                                       M.M : 50 

 
General Instructions: 

सामान्य निर्दशे: 

(1) All Questions are Compulsory. 

सभी iz'u अनिवायय हैं | 
(2) Q. No. 1 to 6 carry 1 mark each. 

iz'u la[;k 1 ls 6 lHkh 1 vad ds gSaA 

(3) Q. No. 7 to 11 carry 2 marks each. 

iz'u la[;k 7 ls 11 lHkh 2 vad ds gSaA 

(4) Q. No. 12 to 17 carry 3 marks each. 

iz'u la[;k 12 ls 17 lHkh 3 vad ds gSaA 

(5) Q. No. 18 and 19 carry 5 marks each. 

iz'u la[;k 18 vkSj 19] 5 vad ds gSaA  

Q. No. 20 is a map based question which has 2 parts (a) and (b) of total 6 marks. 

iz'u la[;k 20 ekufp= dk gS ftlds nks Hkkx gSa ¼d½ vkSj ¼[k½ dqy 6 vad gSaA 

(6) Students are expected to read the questions carefully before writing the answers.  

fo|kfFkZ;ksa ls visf{kr gS fd mÙkj fy[kus ls igys iz'uksa dks /;ku ls i<+saA 

 

 

Q.1. The Buddha told Kisa Gautami “Bring me a handful of mustard seeds, and I will bring 

your child back to life. The seeds must come from the house of a family where nobody 

had died”. What do you think the Buddha was trying to tell the sorrowing mother?   1 

cq) us fdlk xkSreh ls dgk ^^eq>s ,d eqëh ljlksa ds cht ykdj nks] eSa rqEgkjs iq= dks thfor 

dj nw¡xkA ijUrq ;s cht ,sls ?kj ls ykuk tgk¡ fdlh dh ekSr u gqbZ gks**A ,slk dgdj cq) 

nq%[kh ek¡ dks D;k crkuk pkgrs Fks\ 

 

Q.2. When the members of the same family become rulers one after another, the family is 

often called a dynasty. Name any one important ruler of the Mauryan dynasty. Similarly, 

who is the family head of your dynasty?              1 

,d gh ifjokj ds dbZ lnL; ,d ds ckn ,d jktk curs gSa rks mUgsa ,d gh oa'k dk dgk tkrk 

gSA ekS;Z oa'k ds fdlh ,d egÙoiw.kZ jktk dk uke fy[kksA blh izdkj vkids ifjokj esa oa'k dk 

eqf[k;k dkSu gS\ mudk uke fyf[k,A 

 

 

 



Q.3. What is a peninsula? Is India a peninsula?         1 

izk;}hi D;k gksrk gS\ D;k Hkkjr ,d izk;}hi gS\ 

 

Q.4. Which is the only continent through which the Tropic of Cancer, the Equator and the 

Tropic of Capricorn pass. Name the World‟s longest river which passes through this 

continent.               1 

dkSu lk egk}hi ,d ek= ,slk }hi gS ftlls gksdj ddZ]edj rFkk fo"kqor rhuksa js[kk,¡ xqtjrh 

gSa\ bl egk}hi ls gksdj xqtjus okyh lcls yEch unh dk uke fyf[k,A 

 

Q.5. How does the snow capped Himalayas in the north act as sentinels?        1 

Hkkjr ds mÙkj esa cQZ ls <dk fgeky; fdl izdkj ,d larjh dk dk;Z djrk gS\ 

 

Q.6. What will you do to get removed the garbage lying all over the streets of your colony? 

Which government organization can help you in this regard?        1 

vius eksgYys esa QSys dwM+s dks gVkus ds fy, vki D;k djsaxsa\ dkSu lh ljdkjh laLFkk blesa 

vkidh enn dj ldrh gS\ 

 

Q.7. Write the names of our two neighbouring island countries located in the south.       2 

Hkkjr ds nf{k.k esa fLFkr nks }hih; iM+kslh ns'k dkSu ls  gSa\ muds uke fy[kksA 

 

Q.8. Karim visited his friend Shankaran who resided in a village of Kerala, during summer 

vacations. The station master gave him a map to help him locate his friend‟s house easily. 

He found that all instructions in the map were written in Malyalam language which he 

did not know, however, one can easily identify the symbols given, over which, there is an 

agreement. Help him identify the given symbols. An example is given.         2 

djhe vius nksLr 'kadju ds ?kj xfeZ;ksa dh Nqfê;k¡ fcrkus dsjy ds xk¡o esa x;kA LVs'ku ekLVj 

us mls ,d uD'kk fn;k ftlls og vklkuh ls vius fe= ds ?kj igq¡p ldsA uD'kk [kksyus ij 

mlus ik;k fd lHkh ladsr ey;kye esa fy[ks gSa tks mls ugha vkrs] ij mlesa cus izrhdksa dks 

igpkuk tk ldrk gSA fn;s x, izrhdksa dks igpkuus esa mldh  enn djksA 

 

 
Q.9. Observe the picture given below. It shows two kinds of dustbins. Mention any two types 

of items of garbage which you will throw in dustbin A and dustbin B. According to you 

what will be the benefit of sorting the garbage this way?                  2 

fn;s x, fp= dks nsf[k,A blesa nks izdkj ds dwM+snku fn[k jgsa gSaA fdUgha nks pht+ksa ds uke 

fy[kks tks vki dwM+snku A vkSj dwM+snku B esa MkysaxsaA vkids vuqlkj bl izdkj dwM+s dh NaVkbZ 

djus ls D;k ykHk gksxk\  



  Dustbin A (Green)      Dustbin B( Blue) 

         
Q.10. Every year, for atleast about four months during the monsoon, the fishermen of Pudupet 

village of Kerala cannot go to the sea because this is the breeding time for the fish. How 

do you think their livelihoods are affected because of this? How would they earn their 

living during such lean times?      2 

dsjy esa iqnqisV xk¡o ds eNqvkjs gj lky ekulwu ds nkSjku yxHkx pkj eghus rd leqnz esa ugha 

tk ikrs D;ksafd ;g eNfy;ksa ds iztuu dk le; gksrk gSA vkids vuqlkj blls mudh thfodk 

ij D;k izHkko iM+rk gksxk\ os viuk xqt+kjk bl nkSjku dSls pykrs gksaxs\ 

 

Q.11. Given below are statements/facts regarding Gram Panchayat. Mark them right () or or 

wrong (×) as the case may be:-         2 
 

Xkzke iapk;r ds fo"k; esa nh xbZ tkudkjh ij lgh () ;k xyr (×) dk fu'kku yxkvksa 

 

(i) Gram Panchayat is elected by Gram Sabha. 

Xkzke lHkk iapk;r dk pquko djrh gSA 

(ii) Gram Sabha is constituted for 6 years. 

xzke iapk;r dk xBu 6 lky ds fy, gksrk gSA  

(iii) Gram Panchayat‟s meetings are not held regularly. 

Xkzke iapk;r ds lfpo dk pquko ugha gksrk mldh ljdkj ds }kjk fu;qfDr gksrh gSA 

 

Q.12. Maria wants to visit the circus with her father. Consider the map given below and help 

her answer the given questions:-      3 

ekfj;k vius firk ds lkFk ldZl ns[kus tkuk pkgrh gSA fn, x, ekufp= dks /;ku ls ns[ksa 

o mldh enn lacaf/kr iz'uksa ds mÙkj nsdj djsaA  

(i) In which direction is the circus from Maria‟s house? 

ldZl ekfj;k ds ?kj ls fdl fn'kk esa gS\  

(ii) Which building is located to the east of Shyam‟s house? 

';ke ds ?kj ds iwoZ esa dkSu lh bekjr gS \  

(iii) In which direction is the mango orchard from the school? 

vke dk ckx fo|ky; ls dkSu lh fn'kk esa gS \  



 
Q.13. Rulers of Mahajanpadas instead of depending on occasional gifts started collecting 

regular taxes. For example a peasant gave 1/6
th

 of his produce as tax which was known as 

bhaga. If you were a resident of this mahajanpada, write how did the people given below 

pay their taxes:-         3 

egktuinksa ds jktk le; le; ij yk;s migkjksa ij fuHkZj u jgdj vc fu;fer :i ls dj 

olwyus yxsA fdlku viuh mit dk 1@6 oka fgLlk dj ds :i esa nsrk Fkk ftls Hkkx dgk 

tkrk FkkA eku yhft, vki ml egktuin ds fuoklh gSa] uhps fn;s vkids fe= fdl :i esa 

dj pqdkrs gksaxs\ fyf[k,A 

(i) Deenu Smith nhuw yksgkj (ii) Dhannamal Trader   /kUUkkey O;kikjh 

(iii)Herder Santram   i'kqikyd larjke 

Q.14. Why did Ashoka criticize a variety of useless rituals in his inscriptions? Mention any 

two such rituals which you have seen explaining why you do not agree of them.     3 

v'kksd us vius vfHkys[kksa esa vyx vyx voljksa ij fd;s x, vuq"Bkuksa dh fuUnk D;ksa dh\ 

mudk ekuuk Fkk fd ;s deZdkaM fdlh dke ds ughaA ,sls fdUgha nks deZdkaMksa ds ckjs esa fyf[k, 

tks vkius ns[ksa gksa vkSj muls vki lger ughaA dkj.k Hkh fyf[k,A 
 

Q.15. Read the statements given below carefully and explain the reason for the same briefly. 

            3 

(i) Australia is also called the island continent. 

(ii) Antarctica has no permanent settlements. 

(iii) Despite living on blue planet we face shortage of water. 

        uhps fn;s dFkuksa dks i<+sa vkSj dkj.k la{ksi esa fy[ksa& 

(i) vkWLVªsfy;k dks }hih; egk}hi Hkh dgk tkrk gSA  

(ii) vaVkdZfVdk esa fdlh Hkh rjg dk LFkkbZ ekuo fuokl ugha gSA  

(iii) uhys xzg ij jgus ds ckn Hkh ge ikuh dh deh eglwl djrs gSaA 

 



Q.16. The major function of Gram Panchayat is to implement the development programmes 

relating to its area. Write any two such programmes. What are the various sources of 

income of a Panchayat?     3 

xzke iapk;r dk eq[; dk;Z mlds {ks= esa vkus okys fodkl dk;ZØeksa dks ykxw djokuk gksrk gSA 

,sls fdUgha nks dk;ksZ ds fo"k; esa fyf[k,A iapk;r dh vkenuh ds eq[; lzksr D;k gSa\ 

 

Q.17. Read the para given below and answer the given questions:-   3 

      Shekhar’s Story 

We don‟t own much land, only two acres. We manage to do all work on our own. At 

times, especially during the harvest season I take the help of small farmers and in turn 

help them harvest their field. The trader gave me seeds and fertilizers. To pay back his 

loan I have to sell my paddy to him at a price lower than market. Out of 60 bags of paddy 

that I get from my field, after settling the loan, whatever is left will last only 8 months. So 

I need to earn some money. I work in Ramalingam‟s rice mill. We also have a hybrid 

cow whose milk we sell in the local milk co-operative. This way we get a little extra 

money for our everyday needs. 

(i) Why do Shekhar and other farmers like him sell their paddy to the trader instead 

of selling it in market? 

(ii) Besides farming which other extra work does he do? Why does he do such extra 

work? 

  

 fn;s x, vuqPNsn dks i<+sa o lEcfU/kr iz'uksa ds mÙkj nsaA  

'ks[kj dh dgkuh 

  gekjs ikl cl nks ,dM+ t+ehu gSaA ge vius [ksr dk lkjk dke [kqn gh dj ysrss 

gSaA eSa dbZ ckj dVkbZ ds le; nwljs fdlkuksa dh enn ys ysrk gw¡ vkSj cnys esa muds [ksrks esa 

dVkbZ djok nsrk gw¡A O;kikjh eq>s m/kkj ij cht vkSj [kkn nsrk gSA mls pqdkus ds fy, eq>s 

FkksM+s de nkeksa ij /kku cspuk iM+rk gSSA cktkj esa cspwa rks T;knk iSls fey ldrs gSaA ysfdu 

eq>s m/kkj Hkh rks pqdkuk gSA vius [ksr ls mits 60 cksjh /kku esa ls m/kkj pqdkus ds ckn esjs 

fgLls esa tks vkrk gS og vkB eghus gh py ikrk gSA blhfy, eq>s vkSj iSlk dekus dh t#jr 

iM+rh gSA blds fy, eSa jkefyaxe dh pkoy fey esa dke djrk gw¡A gekjs ikl ,d ladj xk; 

Hkh gS ftldk nw/k ge lgdkjh lfefr esa csp nsrs gSaA blls jkst ds [kpksZa ds fy, FkksM+k vkSj 

iSlk fey tkrk gSA  

(i) 'ks[kj vkSj mlds tSls fdlku viuk /kku cktkj esa u cspdj O;kikjh dks D;ksa csp nsrs gSa\  

(ii) [ksrh ds vykok og vkSj dkSu ls vfrfjDr dke djrk gS\ mls ;s dke D;ksa djus iM+rs gSa\  

 

Q.18. According to Buddha cause of all suffering and unhappiness are never ending cravings 

and desires. Sometimes even if we get what we want, we are not satisfied and want even 

more (or want other things). Explain giving one example from your own life. According 

to the Buddha how can we get rid of this constant craving?     5 



cq) ds vuqlkj ykylkvkssa vkSj bPNkvksa dh otg ls gekjk thou nq[kksa ls Hkjk gSA ,d oLrq dks 

ik ysus ij ge vkSj oLrqvksa dh bPNk djus yxrs gSa tks ges'kk iwjh ugha gksrhA vius thou ls 

,d mnkgj.k nsdj le>kb,A bu ykylkvksa ls ge cq) ds vuqlkj dSls eqfDr ik ldrs gSa\ 

 

Q.19. Nirmala is an irregular worker in a small factory while Sudha works as a manager in a 

government organization. Fill the details in the given table according to the clues given 

regarding their working conditions.     5 

fueZyk ,d NksVs dkj[kkus esa dke djus okyh vfu;fer etnwj gS tcfd lq/kk ljdkjh n¶rj esa 

esustj ds in ij gSA nh xbZ rkfydk esa muds dke djus dh ifjfLFkfr;ksa ds vk/kkj ij fooj.k 

nhftm,A  

Basis 

vk/kkj 
Nirmala/fueZyk 

Irregular Worker/ vfu;fer 

etnwj 

Sudha/ lq/kk 

Permanent Worker/ LFkkbZz 

deZpkjh 

(1) Working hours 

dke djus ds ?kaVs  
  

(2) Earning  
dekbZ 

 

  

(3) Work place and 

facilities  
dke djus dh txg 

vkSj lqfo/kk,¡ 

  

(4) Holidays  

Nqfê;k¡  
  

(5) Job Security 

dke dh lqj{kk 
  

 

Q.20. On a political map of India plot the following:-     6 

(A)  

(i) Magadh         

(ii) Girnar              

(iii) Sarnath     

(B)  

(i) any one neighbouring country  

(ii) Telangana      

(iii) The Himalayas. 

               Hkkjr ds ekufp= ij fuEufyf[kr dks n'kkZb,& 

(A)  

(i) ex/k                      

(ii) fxjukj  

(iii) lkjukFk  

 



(B)  

(i) dksbZ ,d iM+kslh ns'k 

(ii) rsyaxkuk    

(iii) fgeky; ioZr 
 

Note:  Only for visually impaired students in lieu of Q.No. 20(A) & (B) 

uksV%& dsoy iz'u la[;k 20 ds cnys n`f"Vckf/kr Nk=ksa ds fy,A  

(i) Write the names of any two places where Ashoka‟s inscriptions have 

been found. 

fdUgha nks LFkkuksa ds uke fyf[k, tgk¡ v”kksd ds vfHkys[k ik, x, gSaA 

(ii) Write the names of any three neighbouring countries of India. 

Hkkjr ds fdUgha rhu iM+kslh ns”kksa ds uke fyf[k,A 

(iii)Write the name of the capital of Magadha.  

ex/k dh jkt/kkuh dk uke fyf[k,A 

       

 

 

 



 

Model Test Paper 

Class VI 

Social science 

Neo-Nishtha 
Time: 2 ½ Hours 

 M.M : 50 

 

General Instructions: 

सामान्य निर्देश: 

(1) All Questions are Compulsory. 
 lHkh iz'u vfuok;Z gaSA 

(2) Q. No. 1 to 6 carry 1 mark each. 

 iz'u la[;k 1 ls 6 rd lHkh ds 1-1 vad gSaA 

(3) Q. No. 7 to 11 carry 2 marks each. 

iz'u la[;k 7 ls 11 rd lHkh ds 2-2 vad gSaA 

(4) Q. No. 12 to 17 carry 3 marks each. 

iz'u la[;k 12 ls 17 rd lHkh ds 3-3 vad gSaA 

(5) Q. No. 18 and 19 carry 5 marks each. 

iz'u la[;k 18 vkSj 19 ds 5-5 vad gSaA 

(6) Q. No. 20 (part a & b) carries 6 marks.   

 iz'u संख्या 20  ¼Hkkx d vkSj [k½ ds 6 vad gSaA 

(7) Students are expected to read the questions carefully before writing the questions.  

 fo|kfFkZ;ksa ls visf{kr gS fd mÙkj fy[kus ls igys iz'uksa dks /;ku ls i<+saA 

(8) Write the answers in the given space.  

fn;s x, LFkku ij gh mÙkj fy[ksaA 

 

Q.1 Avanti, Gandhara, Kosala, Magadha, Kuru, Anga were the Mahajanpada. State    

which one of the following was not a Mahajanpada?     1 
(i) Avanti  (ii) Kosala    (iii) Kaveri        (iv) Magadha 

vofUr] xka/kkj] dksly] ex/k] dq#] vax egktuin FkssA crk,¡ fd fuEufyf[kr esa ls 

dkSu ,d egktuin ugha Fkk\   

            (i)  vofUr        (ii)  dksly         (iii) dkosjh      (iv) ex/k 
 

 

 



Q.2 The Buddha belonged to a small gana known as the Sakya gana, and was a         

kshatriya. State which one of the following is incorrect?   1 

(a) Buddha belonged to Sakya gana. 

(b) Buddha was a kshatriya. 

(c) Buddha‟s gana was the largest. 

(d) Buddha belonged to a small gana . 

 

cq) {kf=; Fks rFkk ^'kkD;* uked ,d NksVs ls x.k ls lacaf/kr FksA crk,¡ fd 

fuEufyf[kr esa ls dkSu& lk xyr gSA 

           (d)  cq) 'kkD;x.k ls lacaf/kr FksA   
           ([k)  cq) {kf=; FksA  
           (x)   cq) dk x.k lcls cM+k FkkA      

      (?k)  cq) ,d NksVs ls x.k ls lacaf/kr FksA  

 

  Q.3 Emperors need more resources than kings because empires are larger than         

kingdoms, and need to be protected by big armies.     1 

Correct the sentence and write: 

Kingdoms are larger than empires.  

______________________________________________ 

 

pwafd lezkT; jkT;ksa ls cM+s gksrs gSa vkSj mudh j{kk ds fy, cM+h lsukvksa dh t#jr 

gksrh gS] blfy, lezkVksa dks jktkvksa dh rqyuk esa T;knk lalk/kuksa dh t:jr gksrh 

gSA  

okD; dks  lgh djds fyf[k,A 

jkT;] lkezkT; ls cM+s gksrs gSSaA 

___________________________________________ 

Q.4 India is bound by the lofty Himalayas in the North, the Arabian Sea in the 

west, the Bay of Bengal in the east and the Indian ocean in the south.    1 

Fill in the blank. 

Bay of Bengal is in the _______________ part of India. 

 

mÙkj esa Hkkjr fgeky; ds Å¡ps f'k[kjkas ls f?kjk gS] if'pe esa vjc lkxj] iwoZ esa caxky 

dh [kkM+h rFkk nf{k.k esa fgUn egklkxj gSSA  

[kkyh LFkku dks Hkjsa% 

caxky dh [kkM+h Hkkjr ds --------------------------------------------Hkkx esa gSA 

Q.5 Sequence of the countries according to population in descending order is : 

China, India, United States of America, Indonesia, Brazil, Pakistan, Nigeria, 



Bangladesh, Russia, Japan. Which country is the sixth largest country 

according to population?.....................................................   1 

 

tula[;k ds vuqlkj ns'kksa ds uke ?kVrs Øe esa bl izdkj gSa & phu] Hkkjr] la;qDr 

jkT; vesfjdk ] baMksusf'k;k] czkthy] ikfdLrku] ukbthfj;k] caXykns'k] :l] tkikuA 

tula[;k ds vuqlkj NBk lcls cM+k ns'k dkSu lk gS\------------------------------------------------------ 

Q.6 The Gram Panchayat meets regularly and one of its main tasks is to implement 

development programmes. The work of the Gram Panchayat has to be 

approved by the Gram Sabha.       1 

Mention the main function of the Gram panchayat?........................................ 

xzke iapk;r dh cSBd fu;fer :i ls gksrh gS vkSj bldk eq[; dke fodkl dk;ZØe 

ykxw djuk gSA xzke iapk;r ds dke xzke lHkk }kjk Lohd`r gksus pkfg,A xzke iapk;r 

dk eq[; dke fyf[k,A----------------------------------------------------------------------------- 

Q.7  Read the following paragraph and write whether true or false.          2 

About 2,500 years ago, some janpadas became more important than others, 

and were known as mahajanpadas. Very soon Magadha emerged as the most 

important mahajanpada. It was a powerful kingdom which was ruled by 

powerful rulers. 

(a) Some janpadas later became mahajanpadas.  

(b) The rulers of Magadha were very weak. 

 

fuEufyf[kr vuqPNsn dks i<a+s vkSj lgh o xyr crk,¡A   

djhc 2500 lky igys] dqN tuin nwljksa ls vf/kd egÙoiw.kZ gks x, vkSj mUgsa 

egktuin dgk tkus yxkA cgqr gh tYnh ex/k lcls egÙoiw.kZ egktuin ds :i 

esa mHkjkA ;g ,d 'kfDr'kkyh jkT; Fkk ftlds 'kkld Hkh 'kfDr'kkyh FksA  

¼d½ dqN tuin ckn esa egktuin cu x,A 

¼[k½ ex/k ds 'kkld cgqr det+ksj FksA  

Q .8 Read the Paragraph and answer.       2 

The last and 24th tirthankara of the Jainas, Vardhamana Mahavira spread his 

message around 2500 years ago. He was a kshatriya prince of the lichchhavis, 

a group that was part of the vajji sangha . 

a) Who was the last tirthankara of the jainas? ……………………………… 

b) Lichchhavi was part of which sangha? …………………………………… 

 



vuqPNsn dks i<+sa vkSj mÙkj nsaA 

tSu /keZ ds vfUre vkSj 24osa rhFkZadj o/kZeku egkohj Fks ftUgksaus vius fopkjksa dk 

izpkj 2500 o"kZ iwoZ fd;k FkkA os fyPNoh ds {k=h; jktdqekj Fks tks fd ofTt la?k 

dk Hkkx FkkA  

¼d½ tSu /keZ ds vfUre rhFkZadj dkSu Fks\ ---------------------------------------------------------------------------- 

¼[k½ fyPNoh fdl la?k dk Hkkx Fkk\     ---------------------------------------------------------------------------- 

Q.9   Observe the picture and answer the following.    2 

 

a) Which building is in front of the school Gate ? 

b) Whose flat is the nearest to the ridge area? (Rahul /  Varsha / Akhil / 

Ramesh) 

   fp= dks ns[ksa vkSj mÙkj nsa& 

 

 

 

 

 

 

 

 

 



¼d½ fo|ky; ds xsV ds lkeus dkSu lh fcfYMax gS\-------------------------------------- 

¼[k½ fjt ,fj;k ds lcls fudV fdldk ¶ySV gS\-¼jkgqy@o"kkZ@vf[ky@jes'k½ 

Q.10.Read the paragraph and answer -      2 

Maps are useful to us for various purposes. Distance, Direction and symbol 

are three components of maps. Maps are drawings, which reduce the entire 

world or a part of it to fit on a sheet of paper. 

(a)What are the three components of maps?................................................... 

(b) Is it possible to show the entire world on a map?....................................... 

fuEufyf[kr vuqPNsn dks i<a+s vkSj mÙkj nsaA 

Ekkufp= gekjs fy, vusd t:jrksa ds fy, mi;ksxh gSA nwjh] fn'kk ,oa izrhd & 

ekufp= ds rhu ?kVd gSaA ekufp= ,d vkjs[k.k gksrk gS tks fd iwjs fo'o ;k mlds 

,d Hkkx dks NksVk dj dkxt ds ,d iUus ij n'kkZrk gSSA  

 

 ¼d½ ekufp= ds rhu ?kVd dkSu ls gSa\------------------------------------------------------------------------ 

 ¼[k½ D;k ,d ekufp= esa iwjk fo'o fn[kkuk laHko gS\------------------------------------------------  

 

Q.11.Read the paragraph and tick the correct answer.                                  2                                                  

There are seven countries that share land boundaries with India. These are 

Pakistan, Afghanistan, China, Bhutan, Myanmar, Bangladesh and Nepal. Sri 

Lanka is separated from India by the Palk Strait.  

(a)  Which country does not share land boundaries with India?   

(i)  Afghanistan  (ii) Indonesia  (iii) Pakistan  (d) China 

 

(b) The Palk strait lies between the countries  

(i) Sri Lanka and Maldives  

(ii) India and Maldives 

(iii) India and Sri Lanka  

(iv) Sri Lanka and Indonesia  

fuEufyf[kr vuqPNsn dks i<+sa vkSj fu'kku yxk,¡A  

Hkkjr dh LFkyh; lhek,¡ lkr ns'kksa ls tqM+h gSaA ;s gSa & ikfdLrku] vQxkfuLrku] 

phu] HkwVku] caXykns'k] e;aekj vkSj usikyA ikd tylaf/k Hkkjr dks Jh yadk ls 

vyx djrh  gSA  



¼d½ dkSu lk ns'k Hkkjr dh LFkyh; lhek ls ugha tqM+k gS \ 

(i)  vQxkfuLrku    (ii)  baMksusf'k;k    (iii) ikfdLrku    (iv) phu  

¼[k½ ikd tylaf/k fdu nks ns'kksa ds chp fLFkr gS\ 

(i) Jh yadk rFkk eky}ho    

(ii) Hkkjr rFkk eky}ho 

(iii) Hkkjr rFkk Jh yadk 

(iv) Jh yadk rFkk baMksusf'k;k 

Q.12. Read the paragraph and fill in the blanks –      3 

Buddha and Mahavira taught around 2500 years ago. Buddha taught for the 

first time at Sarnath, near Varanasi. Mahavira taught that men and women 

must follow the rules of ahimsa. His followers were known as Jainas. 

(a) Buddha taught for the first time at _________________________. 

(b) The followers of Mahavira were known as __________________. 

(c) Buddha taught around __________________ years ago. 

vuqPNsn dks i<sa+ vkSj [kkyh LFkkuksa dks HkjsaA 

cq) vkSj egkohj us yxHkx 2500 o"kkasZ iwoZ viuh f'k{kk,¡ nhA cq) us lkjukFk esa 

viuh igyh f'k{kk nh FkhA egkohj us ;g f'k{kk nh fd iq#"kksa vkSj efgykvksa dks 

vfgalk ds fu;eksa dk ikyu djuk pkfg,A muds vuq;k;h tSu dgykrs FksA  

¼d½ cq) us loZizFke----------------------------------------------------------esa viuh f'k{kk nh FkhA 

¼[k½ egkohj ds vuq;k;h ------------------------------------------------------- dgykrs FksA 

¼x½ cq) us djhc -------------------------------------------------------------- o"kZ iwoZ viuh f'k{kk nh FkhA 

Q.13. Read the paragraph and match the following :-           3 

Symbols are important component of a map. Many colours are used for 

symbols. For example, generally blue is used for showing water bodies, 

brown for mountain, yellow for plateau and green is used for plains. 

(a) Blue   (1) Plateau 

(b) Green   (2) Mountain 

(c) Brown   (3) Plains 

(d) Yellow   (4) Water bodies 



vuqPNsn dks i<+sa vkSj feyku djsa%& 

izrhd ekufp= ds ,d egÙoiw.kZ ?kVd gSaA izrhd ds fy, vusd jaxksa dk iz;ksx 

fd;k  tkrk gSA mnkgj.k ds fy,& uhys jax dk bLrseky tyk'k;ksa] Hkwjk jax ioZrksa] 

ihyk jax iBkjksa vkSj gjk jax eSnkuksa dks n'kkZus ds fy, fd;k tkrk gSA 

  (d)  uhyk                 (i) iBkj    
  ([k)   gjk                                 (ii) ioZr 
  (x)   Hkwjk                  (iii) eSnku 

 (?k) ihyk                 (iv) tyk'k; 

 

Q.14. Observe the following pictures and write the work done the people in these 

pictures. Hints are given in the box. :-       3 

fuEukafdr fp=ksa dks ns[kdj muesa yksxksa ds n~okjk fd;s tkus okys dk;ksZa dks fy[kasA 

ckWDl ls enn ysaA 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Making pottery, repairing bicycles, making basket, Ploughing fields, 

selling goods.  

 

 

 

 



Q.15. Fill in the following table with the help of box to show the products/goods 

sold by these shops –         3 

Sr. No. Name of the 

shop 

Products /Goods 

i Fruits shop   

ii Grocery store   

iii Stationary shop   

 

 

 

fn;s x, Vscy dks fuEufyf[kr nqdkuksa }kjk csph tkus okyh oLrqvksa@mRiknksa dks ckWDl esa 

fn;s x;s oLrqvksa dh lgk;rk ls Hkjsa%&  

Ø- l-  nqdkuksa ds uke  mRikn@oLrq,¡ 

i Qy dh nqdku   

ii fdjkuk nqdku   

iii LVs'kujh dh nqdku  

 

 

Q.16. The following Figure shows the work done by Ramesh, a farmer. Observe the 

figure carefully and answer the qustions that follow :-     3 

                  

Apple, Rice, Pencil, Orange, Eraser, Banana, Mango, Eggs, Register, Pen, Copy, 

lsc] pkoy] isafly] larjk] jcM+] dsyk] vke] vaMs] jftLVj] dye] dkWih  



(a) In which month is harvesting done by Ramesh? 

(b) Mention three months in which Ramesh does not do any work. 

(c) In which month is transplanting done by Ramesh?   

uhps fn;s x;s Mk;xzke esa jes'k uked fdlku ds }kjk fd;s tkus okys dk;ksZ dks ns[ksa vkSj 

mÙkj nsa&  

                  

¼d½ jes'k }kjk dVkbZ dc dh tkrh gS\ 

¼[k½ mu rhu eghuksa dss uke fy[ksa tc jes'k dksbZ dke ugha djrk gsS\  

¼x½ ml eghus dk uke fy[ksa tc jes'k }kjk jksikbZ dh tkrh gS\ 

 

Q.17. Mention any three works around your area through which people earn  

          money.              3 

 (a)………………………………………………………………………………………………………………… 

 (b)……………………………………………………………………………………………………………….. 

 (c) ………………………………………………………………………………………………………………… 

vius vkl&ikl yksxksa ds }kjk fd;s tkus okys dksbZ Hkh rhu dke fy[ksa ftlls os 

iSlk dekrs gSaA  

¼d½ -------------------------------------------------------------------------------------------------------------------------------------------------------

---- 

¼[k½ -------------------------------------------------------------------------------------------------------------------------------------------------------

---- 

¼x½ --------------------------------------------------------------------------------------------------------------------------------------------------------

--- 

 

 



Q.18. Read the paragraph and answer the following     5 

Panchayati Raj system is a unique system in India. There are three levels of 

Panchayati Raj in India. Gram Panchayat is the first tier or level. Second level 

is the Block level, which is called Panchayat samiti. The Panchayat samiti has 

many Gram panchayat under it. Above the panchayat samiti is the District 

Panchayat or the Zila parishad . The Zila parishad makes developmental plans 

at the district level.  

(a) The second level of Panchayati Raj is Known as………………........... 

(b) Who makes development plans at district level? ………………........... 

(c) How many levels of panchayati Raj system are there in India? 

………………....  

(d) Which one is the highest level? (Panchayat Samiti/Gram Panchayat/Zila 

Panchayat). ………………........... 

(e) Which level of Panchayati Raj is above the Panchayat Samiti? 

……………….. 

 

 vuqPNsn dks i<+sa vkSj mÙkj nsaA 

iapk;rh jkt O;oLFkk Hkkjr dh ,d vf}rh; O;oLFkk gSA Hkkjr esa iapk;rh jkt ds 

rhu Lrj gSaA xzke iapk;r bldh igyh lh<+h vFkok Lrj gSA nwljk Lrj fodkl [kaM 

dk gksrk gS ftls iapk;r lfefr dgrs gSaA ,d iapk;r lfefr esa dbZ xzke iapk;rsa 

gksrh gSaA iapk;r lfefr ds Åij ftyk iapk;r ;k ftyk ifj"kn~ gksrh gSA ftyk 

ifj"kn~ ,d ftys ds Lrj ij fodkl dh ;kstuk,¡ cukrh gSaA 

(i) iapk;rh jkt dk nwljk Lrj dgykrk gS----------------------------------------- 

(ii) ftyk Lrj ij fodkl dh ;kstuk,¡ dkSu cukrk gS\---------------------------------------- 

(iii) Hkkjr esa iapk;rh jkt ds fdrus Lrj gSa\---------------------------------------- 

(iv) dkSu lk lcls cM+k Lrj gS\¼iapk;r lfefr@xzke iapk;r@ftyk ifj"kn~½ -----------

--------------------------------------- 

(v) iapk;r lfefr ds Åij iapk;rh jkt dk dkSu lk Lrj gS\---------------------------------------- 

Q.19. Read the paragraph and match the following       5 

Mouryan Empire was founded by Chandragupta Mourya. Chankya was his 

minister who wrote a book called the Arthashastra. Ashoka was the most 

famous Mouryan emperor. He fought a war to conquer Kalinga, the ancient 

name of coastal Orissa. The capital of the empire was Patliputra. Ashoka 



tried to take his message to the people through inscriptions that were written 

in Brahami script.  

(a) Chandragupta Mourya   (i) Orissa  

(b)  Chankya       (ii) Script 

(c)  Patliputra               (iii) Founder of the empire 

(d)  Kalinga       (iv) Arthashastra  

(e)  Brahmi      (v) Capital  

vuqPNsn dks i<+sa vkSj feyku djsaA 

ekS;Z lezkT; dh LFkkiuk panzxqIr ekS;Z us dh FkhA pk.kD; mldk ea=h Fkk] ftUgksaus 

vFkZ'kkL= uked iqLrd fy[kh FkhA v'kksd ekS;Z oa'k dk lcls izfl) 'kkld FkkA 

mlus dfyax dks thrus ds fy, ,d ;q) yM+k tks fd rVorhZ mM+hlk dk izkphu uke 

gSA lkezkT; dh jkt/kkuh ikVyhiq= FkhA v'kksd us vfHkys[kksa ds }kjk turk rd 

vius lans'k igq¡pkus dh dksf'k'k dh tks nsoukfxjh fyfi esa gaSA 

¼d½ panzxqIr ekS;Z         (i) mM+hlk 

¼[k½ pk.kD;         (ii) fyfi 

¼x½ ikVyhiq=        (iii) lkezkT; ds laLFkkid         

¼[k½ dfyax                   (iv) vFkZ'kkL=  

¼x½ nsoukfxjh                 (v) jkt/kkuh    

Q.20. Map work –          6 

Map work is divided in two parts. Observe the given map carefully and answer the 

questions. 

(a)  

                

 

 

 

 

 

 

 

    



Mention three neighbouring states of Madhya Pradesh.  

(A)  _____________________ 

 

(B) ______________________ 

 

(C) ____________________ 
 

(b) 

 

     Mention the name of any three mahajanpadas. 

(A) __________________ 

 

(B) __________________ 

 

(C) _________________ 

 

 

 



Ekkufp= dk;Z 

Ekkufp= dk;Z nks Hkkxksa esa foHkkftr gaSA ekufp= dks /;ku ls ns[ksa vkSj mÙkj nsaA 

¼d½ 

      

¼d½ e/; izns'k ds rhu iM+kslh jkT;ksa ds uke fy[ksaA 

       v½__________________ 

 

c½__________________ 

 

l½__________________ 

 

 

 



¼[k½ 

                  

¼[k½ fdUgha rhu egktuinksa dss uke fy[ksaA 

       v½__________________ 

                    c½__________________ 

l½__________________ 

Only for visually impaired students - 

20. (a) Write the Name of three states of India.  

      (b) Read the following paragraph and answer. 

More than 2300 years ago, a ruler named Alexander, who lived in Macedonia in 

Europe, wanted to become a world conqueror.  

(i) Alexander lived in which country? 

(ii) Who wanted to become a world conqueror? 

(iii) Alexander ruled how many years ago?  



20- ¼d½ Hkkjr ds rhu jkT;ksa ds uke fyf[k,A 

    ¼[k½ fuEufyf[kr vuqPNsn dks i<+sa vkSj mÙkj nsaA 

2300 lky ls Hkh igyss dh ckr gS] ;wjksi ds esflMksfu;k dk jktk fldUnj 

fo'o&fot; djuk pkgrk FkkA   

(i) fldanj fdl ns'k eas jgrk Fkk\ 

(ii) dkSu fo'o&fot; djuk pkgrk Fkk\ 

(iii) fldanj fdrus o"kkasZ igys jktk Fkk\   

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 


